Reefer Car

ELECTRIC TRAIN

REV.052501



Reefer Car

Car Parts

NameandNumber Part# $PricePerUnit
1) Door(orange) [HD-0T00067] 4.00
(NYC)(#2507)
Door(orange) HD-0100068 4.00
(W&LE)(#6041)
Door(orange) 4.00
(Tropicana )(#241)(#248
Door(orange) _ 4.00
(SantaFe)(#35801)(#35832)(#35858)(#35860)
(#35876)(#35891)(#35808)(#35836)
(#35855)(#35864)(#35879)(#35893)
Door(orange) 4.00
(SantaFe)(#11630)(#11634
Door 4.00
(yelloww/blackstripes)(PRR)(#91904)
Door(blue) 4.00
(C&O)(#23161)
Door(yellow&blue) 4.00
(Nestle)(#8209)
Door(red) [HD-0100075] 4.00
(CN)(#CN21206)
Door(yellow) 4.00
(GN)(#70598)
Door(white) 4.00
( DixieRefrigeratorTransitCo)(#46211)(#46217)
2.) Doorguide(orange) 2.00
(top)(NYC)(#2507)
Doorguide(orange) 2.00
(top)(W&LE)(#6041)
Doorguide(orange) 2.00
(top)(Tropicana)(#241)(#248)
Doorguide(orange) 2.00
(SantaFe)(top)
(#35801)(#35832)(#35858)(#35860)
(#35876)(#35891)(#35808)(#35836)
(#35855)(#35864)(#35879)(#35893)
Doorguide(black) 2.00
(top)(SantaFe)(#11630)(#11634)
Doorguide(yellow) 2.00
(top)(PRR)(#91904)
Doorguide(yellow) 2.00
(top)(C&O)(#23161)
Doorguide(yellow) [HD-0T00085] 2.00
(top)(Nestle)(#8209)
Doorguide(yellow) HD-0100086 2.00
(top)(GN)(#70598)
Doorguide(silver) 2.00
(top)(CN)(#CN212086)
Doorguide(white)(top) [HD-0100088 2.00
(DixieRefrigeratorTransitCo)(#46211)(#46217)
3.) Catwalk(red) 4.00

(NYC)(#2507)

Cat walk(red) 4.00
( DixieRefrigeratorTransitCo%%#46211 ) (#46217)
Cat walk(orange) HD-0100091 | 4.00
(Tropicana ) (#241)(#248)

Cat walk(black) 4.00
(SantaFe)(#35801)(#35832)(#35858)(#35860)
(#35876)(#35891)(#35808)(#35836)
(#35855)(#35864)(#35879)(#35893)

Cat walk(yellow) 4.00
(PRR)(#91904)
Cat walk(yellow) 4.00
(Nestle)(#8209)

NameandNumber Part# $PricePerUnit
3.) Catwalk(red) HD-0100144 4.00
(W&LE)(#6041)
Cat walk(silver) HD-0100022 4.00

(GN)(#70598)(CN)(#CN21206)
(C&O)(#23161)

Doorguide(orange) 2.00
(bottom)(NYC)(#2507)(W&LE)(#6041)
(SantaFe)(#11630)(#11634)
Doorguide(orange) 2.00
(bottom)(Tropicana)(#241)(#248)
(SantaFe)(#35801)(#35832)(#35858)(#35860)
(#35876)(#35891)(#35808)(#35836)
(#35855)(#35864)(#35879)(#35893)
Doorguide(yellow) 2.00
(bottom)(PRR)(#91904)

Doorguide(yellow) 2.00
(bottom)(GN)(#70598)

Doorguide(yellow) HD-0100098 2.00
(bottom)(C&O)(#23161)

Doorguide(blue) 2.00
(bottom)(Nestle)(#8209)

Doorguide(silver) 2.00
(bottom)(CN)(#CN21206)

Doorguide(white) 2.00
(bottom)(DixieRefrigeratorTransitCo)
(#46211)(#46217)

Screw 0.15
(M2.5x6.0mm)(roundhead)(plasticcuttingthreads)
Shell(orange&red) *25.00
(NYC)(#2507)

Shell(orangeé&red) *25.00
(W&LE)(#6041)

Shell(orange) *25.00
(Tropicana ) (#241)(#248)

Shell(orange&black)  [HD-0100104] *25.00
(SantaFe)(#35801)

Shell(orange&black) *25.00
(SantaFe)(#35832)

Shell(orange&black) *25.00
(SantaFe)(#35858)

Shell(orange&black) *25.00
(SantaFe)(#35860)

Shell(orange&black) *25.00
(SantaFe)(#35876)

Shell(orange&black) *25.00
(SantaFe)(#35891)

Shell(orange&black) *25.00
(SantaFe)(#35808)

Shell(orange&black) *25.00
(SantaFe)(#35836)

Shell(orange&black) *25.00
(SantaFe)(#35855)

Shell(orange&black) *25.00
(SantaFe)(#35864)

Shell(orangeé&black) *25.00
(SantaFe)(#35879)

Shell(orange&black) *25.00
(SantaFe)(#35893)

Shell(orange&black) *25.00
(SantaFe)(#11630)

*Requires Exchange
Allpartsarepricedaseach



www.mthtrains.com/part/HD-0100067
www.mthtrains.com/part/HD-0100068
www.mthtrains.com/part/HD-0100069
www.mthtrains.com/part/HD-0100070
www.mthtrains.com/part/HD-0100071
www.mthtrains.com/part/HD-0100072
www.mthtrains.com/part/HD-0100073
www.mthtrains.com/part/HD-0100074
www.mthtrains.com/part/HD-0100075
www.mthtrains.com/part/HD-0100076
www.mthtrains.com/part/HD-0100077
www.mthtrains.com/part/HD-0100078
www.mthtrains.com/part/HD-0100079
www.mthtrains.com/part/HD-0100080
www.mthtrains.com/part/HD-0100081
www.mthtrains.com/part/HD-0100083
www.mthtrains.com/part/HD-0100082
www.mthtrains.com/part/HD-0100084
www.mthtrains.com/part/HD-0100085
www.mthtrains.com/part/HD-0100086
www.mthtrains.com/part/HD-0100087
www.mthtrains.com/part/HD-0100088
www.mthtrains.com/part/HD-0100089
www.mthtrains.com/part/HD-0100090
www.mthtrains.com/part/HD-0100091
www.mthtrains.com/part/HD-0100025
www.mthtrains.com/part/HD-0100092
www.mthtrains.com/part/HD-0100093
www.mthtrains.com/part/HD-0100144
www.mthtrains.com/part/HD-0100022
www.mthtrains.com/part/HD-0100094
www.mthtrains.com/part/HD-0100095
www.mthtrains.com/part/HD-0100096
www.mthtrains.com/part/HD-0100097
www.mthtrains.com/part/HD-0100098
www.mthtrains.com/part/HD-0100099
www.mthtrains.com/part/HD-0100028
www.mthtrains.com/part/HD-0100100
www.mthtrains.com/part/IA-0000167
www.mthtrains.com/part/HD-0100101
www.mthtrains.com/part/HD-0100102
www.mthtrains.com/part/HD-0100103
www.mthtrains.com/part/HD-0100104
www.mthtrains.com/part/HD-0100130
www.mthtrains.com/part/HD-0100131
www.mthtrains.com/part/HD-0100132
www.mthtrains.com/part/HD-0100133
www.mthtrains.com/part/HD-0100134
www.mthtrains.com/part/HD-0100135
www.mthtrains.com/part/HD-0100136
www.mthtrains.com/part/HD-0100137
www.mthtrains.com/part/HD-0100138
www.mthtrains.com/part/HD-0100139
www.mthtrains.com/part/HD-0100140
www.mthtrains.com/part/HD-0100105

Reefer Car

Car Parts

NameandNumber Part# $PricePerUnit
6.) Shell(orange&black) *25.00
(SantaFe)(#11634)
Shell(yellow&black) *25.00
(PRR)(#91904)
Shell(yellow&blue) *25.00
(C&O)(#23161)
Shell(yellow&blue) *25.00
(Nestle)(#8209)
Shell(silver) *25.00
(CN)(#CN21206)
Shell(yellow,red,silver) *25.00
(GN)(#70598)
Shell(white&red) *25.00
( DixieRefrigeratorTransitCo)(#46211)
Shell(white&red) [HD-0100142] *25.00
( DixieRefrigeratorTransitCo)(#46217)
7.) Screw 0.15
(M2.6x4.0mm)(roundhead)(plasticcuttingthreads)
8.) Ladder(orange)(side) 3.00
(NYC)(#2507)(W&LE) (#6041
Ladder ( orange)(side) 3.00
(Tropicana ) (#241)(#248)
Ladder ( orange)(side) 3.00
(SantaFe)(#11630)(#11634)
Ladder(black)(side) 3.00
(SantaFe)(#35801)(#35832)(#35858)(#35860)
(#35876)(#35891)(#35808)(#35836)
(#35855)(#35864)(#35879)(#35893)
Ladder(yellow)(side) 3.00
(PRR)(#91904)
Ladder(yellow)(side) 3.00
(GN)(#70598)
Ladder(yellow)(side) 3.00
(C&O)(#23161)
Ladder(yellow)(side) [FD-0I00119 3.00
(Nestle)(#82009)
Ladder(silver)(side) 3.00
(CN)(#CN21206)
Ladder(black)(side) 3.00
(DixieRefrigeratorTransitCo)(#46211)(#46217)
9.) Ladder(red )(end) 3.00
(NYC)(#2507)(PRR)(#91904)(GN)(#70598)
Ladder(red)(end) 3.00
(W&LE)(#6041)
Ladder(orange)(end) [AD-0UI001Z4] 3.00
(Tropicana ) (#241)(#248)
Ladder(black)(end) 3.00
(SantaFe)(#35801)(#35832)(#35858)(#35860)
(#35876)(#35891)(#35808)(#35836)
(#35855)(#35864)(#35879)(#35893)
(#11630)(#11634)
Ladder(blue)(end) 3.00
(C&O)(#23161)
Ladder (yellow)(end) 3.00
(Nestle)(#8209)
Ladder(silver)(end) 3.00
(CN)(#CN21206)
Ladder(black)(end) 3.00
( DixieRefrigeratorTransitCo%%#46211‘)(#46217)
10.) Brakewheel(black) HE-4100033| 1.00
11.) Screw [1A-0000208 ] 0.15
(M2.6x4.0mm)(roundhead)(plasticcuttingthreads)
12.) Chassis(black) *12.00

NameandNumber Part# $PricePerUnit
13.) Screw 0.15
(M3x8.0mm)(roundhead)(plasticcuttingthreads)
14.) Undercarriagedetail HD-0100066 8.00
(black)

15.) Screw 0.15
(M3x5.0mm)(w/8.0mmwasherhead)

16.) Screw 0.15
(M2.5x6.0mm)(flathead)

17.) Screw 0.15
(M2x4.0mm)(washerhead)

18.) Coupler 3.00
(41.5mmlong)(mechanical

19.) Spring(centering) 0.50

20.) Armature [DD-0000014] 1.00
(36.3mmlong)(w/newarmaturepin

21.) Washer(clear) 0.15
(5.0x10.0x0.3mm)

22.) Spring(nickel) IE-0000035 0.50
(6.0x8.0mm)(w/0.4mmthickwire )

23.) Screw 0.15
(M3x5.0mm)(w/8.0mmwasherhead)

24.) Spring(nickel) 0.25
(truckside)(2.5x5.0x0.2mm)

25.) Truck(black)(2axle) [DA-0I00006] 5.00

*Requires Exchange
Allpartsarepricedaseach



www.mthtrains.com/part/HD-0100141
www.mthtrains.com/part/HD-0100106
www.mthtrains.com/part/HD-0100107
www.mthtrains.com/part/HD-0100108
www.mthtrains.com/part/HD-0100109
www.mthtrains.com/part/HD-0100110
www.mthtrains.com/part/HD-0100111
www.mthtrains.com/part/HD-0100142
www.mthtrains.com/part/IA-0000208
www.mthtrains.com/part/HD-0100112
www.mthtrains.com/part/HD-0100113
www.mthtrains.com/part/HD-0100114
www.mthtrains.com/part/HD-0100115
www.mthtrains.com/part/HD-0100116
www.mthtrains.com/part/HD-0100117
www.mthtrains.com/part/HD-0100118
www.mthtrains.com/part/HD-0100119
www.mthtrains.com/part/HD-0100120
www.mthtrains.com/part/HD-0100121
www.mthtrains.com/part/HD-0100122
www.mthtrains.com/part/HD-0100123
www.mthtrains.com/part/HD-0100124
www.mthtrains.com/part/HD-0100125
www.mthtrains.com/part/HD-0100126
www.mthtrains.com/part/HD-0100127
www.mthtrains.com/part/HD-0100128
www.mthtrains.com/part/HD-0100129
www.mthtrains.com/part/HE-4100033
www.mthtrains.com/part/IA-0000208
www.mthtrains.com/part/HD-0100065
www.mthtrains.com/part/IA-0000204
www.mthtrains.com/part/HD-0100066
www.mthtrains.com/part/IA-0000268
www.mthtrains.com/part/IA-0000178
www.mthtrains.com/part/IA-0000080
www.mthtrains.com/part/DD-0000015
www.mthtrains.com/part/IE-0000036
www.mthtrains.com/part/DD-0000014
www.mthtrains.com/part/ID-0000065
www.mthtrains.com/part/IE-0000035
www.mthtrains.com/part/IA-0000268
www.mthtrains.com/part/IE-0000033
www.mthtrains.com/part/DA-0100006

Reefer Car
Car Parts




